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1, In the National Income Accounting, which of the following is called National
Income ?
i1) NNF at factor cost (2] NNFP at market price
(3) NDP at factor price 4] NDP at market price
% In the classical model, the price elasticily of sggregate supply curve is :
(1} Infinity (2} One
3 Less than one {4} Aerg
& The slope of IS curve depends on
111 Interest clasticity of money demand
(2) Interest elasticily of investment demand
(3] Income elasticity of money demand
(4] (Cross elasticity of demand
4, Given the velocity of money (V) and output (Y) the quantity theory of money
gtates thal :
A An inerease in nominal maoney supply leads to a proportional increase
in the price level
[0 An increase in real money supply causes a proportional inerease in the
price level
(3) A decrease in nominal money supply leads to a proportional increuse in
the price level
(4} A deerease in real money supply causes a proporlional increase in the
price level
5. In India, the Broad Money (M3) measurcs of money supply as the sum ol .
(1) Currency with the public + Demand deposits with banks + Other deposits
with RBI
(2] Currency with the public + Demand deposits with banks + Other deposits
with RB! + Time depesits with banks
t3)  Demand deposits with banks + Other deposils with BBl + Saving deposits
with post office + Currency with the public
(41 Currency with the public + Demand deposits with banks + Other deposits
with RBI + Total post office deposits
B Given high powered money (H) is Rs. 800 reserve ratio 15 0.1, and the
currency deposit ratio is (L8, find the value of money multiplier and the moncy
supply :
(13 5 and 4000 respectively (2 2 and 1600 respectively
(3 2.5 and 2000 respectively (4} 5.5 and 4400 reapectively
7. The interesl elasticity of speculative demand for moeney al ligquidity trap is :
(1) One (L) [nfinity
(3 Zern (43 More than zero but less Laun one
JL-416-BO0—A 0
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g, The Engel curve for gilfen goods iz :
{1 Negatively sloped (2} Pozitively sloped
(3 Vertical i4) Horizontal
9 If the demand for good A goes down, when the price of good B goes up,
then
(1) A and B are substitules goods (2) A and B are complementary goods
(3} A and B are inferior gonds (4) A and B are luxurious goods
0. If MPg = %, and MPy = 2, then the value of MRTS 5 is ¢
(1 1 2 2
(3) 4 l4) g
11.  According to Lerner, the measure of monopoly power 13 :
(1) P-ACTP (2) P-MC/P
{3) P-AR/P (4) P-TC/P
12. In the short-run, the value of marginal product slopes downwards because of
(1) Decline in price as the competitive firm produces more output
(2] LLaw of diminishing marginal returns
(3}  Decreasing returns to scale
(A4} Fceonomies of zcale
13. The Arm will prefer to shut down when :
(L) = 8MC i 2) Pi=SAC
{3) MR = MC (4] P = AVC
14. The estimated production function for wheat farmers is given as Y = a}{ln'ﬁ KE“_T_
Indicate which one of the following characterizes the wheat farming
1) Constant returns to scale (2 Inereasing returns to scale
() Decreasing returns to scale (4 Law of variable portions
15. The marginal cost of a pure public goods is :
(1) One (2] More than one
{3 Zero or close to zero (4] Leseg thar zero
16. The government can achieve equity In taxation by applying the prinaiple of :
(1) Equal absolute sacrifice {2] Equal marginal sacrifice
30 Frual proportional sacrifice (4] Wellare state theory
17 Tazx on personal income iz baged on :
(1) Benefil aceruing from public goods
(2} Ability to pay by the taxpavers
i3} Cost of service approach
(41 Benefit acerming from private goods
JL-416-EC0D-—A 3 385
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18, The balanced budget multiplier is always ;
{1} Equal to one (2 Greater than one
(3} Equal to zero (4 less than one
19, In state capitalism, which among the following features are frue ?
(A} Al means of production are ewned by the state
(B}  Institutions of private property and inheritanee are shrunk to the minimum
necessary
1€} Market mechaniem iz nearly frozen
(It The objective of state planning i1z maximization of social welfare
Seleet the correct features
(1) (A), (C} and (D) only (2 (B, (D) and (A) only
(3) (Bl, (C) and (D} only 4} (A), (B, () and (D)
20. Which of the following statements are frue with respect to deficit financing by
the government ?
(A} Deficit financing done through creation of cash or drawing down of cash
balances act as 2 hidden tax
(B Deficit financing done through borrowing from private sector does not
act as a hidden tax
(C) Deficit inancing done through borrowing from central bank act as a hidden
tax
Beleet the rorrect statements -
(1} (A) and (B} (2) (B} and ()
(3 (A) and (C) (4} (Al 1B and (C)
21, According to Hecksher-Ohlin theory, the labour abundant country will :
{A)  Export labour intensive commaodity
(tB)  Import labour intensive commodity
(C)  Ezport capital intensive commodity
(D) Import capital intensive commodity
Select the correct answer :
85 i) only (2] (A} and (D) only
(3 (B} only (4) (B} and (€} only
24, Devaluation means |
(1) To appreciate the value of domestic currency
(2 To reduce the value of domestic curreney
(3) To raize the value of domestic currency
(4} To demonetise old currency notes
Al-416-F00- A 1
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23, The intra industry trade is maximum when :
(13 Exports of a country are greater than imports
(2} Exports of a country arc lesser than imports
(3} A country either exports or imports the gouds
(4}  Exports and imports of a good of a country arec equal
24. It the wealth effect and terms of trade cffect move in opposite direction then :
i1} There will be deterioration in nsation's welfare
(2) There will be improvement in nation’s welfare
() Nalion’s welfare may improve, deteriorate or remain unchanged
4) There will be no effeet on nation's wellare
25.  The World Trade Organization (WTOQ) functions on which of the following
principles ?
(A Non-digerimination
(B;  Elimination of nen-tanil trade barriers, except for agricultural products
and for nations in balance of pavment difficulties
(C}  Congultations among countries in solving trade disputes
Seleet Lhe correct prineiples |
(1) (A} and () only (2} (B) and (C) only
53] (AL (B and () (4, (A) and (B) enly
26. Primary Deficil refers to :
(1) Revenue Deficit — Grants for Creation of Capital Assets
(2} Fiscal Defiat  Grants for Creation of Capital Assets
{3) Fiscal Deficit — Intercst Payments
(4] Revenue Deficit — Interest Payment
27.  As per the Tendulkar Methodology for 2011-12, the poverty line in India was
el ab |
(1) Rs. 972 in rural and Rs. 1407 in urban areas
(2) Rs. B16 in rural and Rs. 1000 in urban areas
{3 Rs. 972 in rural and Rs. 1000 in urban areas
i4) Rs. B16 in rural and Rs. 1407 in urban areas
25, Pifteenth Finanee Commission has been constituted under the Chairmanship of !
{1 Dr. Arvind Panagariva {2) Dr. Arvind Subramanian
(3 Bhri N. K Singh 4] Dr. ¥, V, Reddy
29.  Il'in a Harrodian economy, actual growth rate is greater than warrunted growth
rate, this will result in :
(1 SBecular inflatinn (2 Secular deflation
(3} Stagllution (4) Cmemployment,
JL-416-ECO—A & PT.0
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30, Fei Rams meodel is an improvemenl over Lewis model as :
(1) It satisfies the conditions of balanced growth during tuke off process
(23 It neglects the role of agriculiure sector
i3 It shows the interaction between agriculiure and industry in initiating
and acceleruting development
(4) It gives importance to industrial development
a1, The main cause of regional inequalities according to Gunnar Myrdal, has been :
(1j Strong backwash effeets and the weak spread effects in underdeveloped
counlries
(2} Weak backwash effects and weak spread effects in underdeveloped counlnes
[(3) Sirong backwash effects and the strong spread effects in underdeveloped
countries
(4) Strong spread effeets in underdeveloped countries
32. In which year was Nation Food Security Mission launched in India 7
(1) 2001-02 (2) 2004-05
(3} 2010-11 (4) 2007-08
43,  Find the derivative of the function flx) - 18 :
r 9sx (2)  3/vx
3y Bl i4)  97/x
34, A company experiences a 10 per cent rise in the use of inputs and at the same
time input costs are increasing by 3 per cent. What is the rate of increase in
input costs ?
(1) 0.10 i2) 0.03
(3} 013 i4) 0.07
a5 A funetion whose domain is set of pesitive integers is ecalled
(1} Range i2) Heguence
{8} Real space 4} Line
36. Which of fellowing conditions should be satisfied for a curve to be a straight
hine ?
; e N il
(1) %’::ﬂ, i;:n 2) jj_u, gx-g.ﬂ}
(3) %:U.%Ef:-u (4) g—u
JL-416-EO0—A 6
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38,

39.

40,

41.

42,

43,

44.

JL-416-ECO—A

Differenice between the largest and smallest numbers 12 called

(1) Arithmetie Mean (2) Variance

(3) Range (4] Standard Deviation
A multimodal frequency curve has :

(1 More than two maxima (2) Two maxima only
(3) No maxima (4} No minima

The root mean square of the numbers 1, 3, 4, 5 and 7 is ;
(1) 4 58 (29 447
(3 4.16 {4) 4.34

If the sample estimale of a population parameter lies between two numbers,
then it is called as

(1) Point estimate (21 Multiple estimate

{3) Double estimale i) Interval estimate
Laspeyre’s Price Index ireats which one of the following as a weight 7
(1) Current year quantity

(2} Base year quantity

{3} Both current and base year quantity

(4} Average of current and basce year quantity

Which one of the following is true about the simple random sampling ?
(1} Subjectivity or personal bias is involved

(2} KKach unit does not have egual chance of being selected

(3} Each unit has equal chance of being selpcted

(4) Very difficult to implement

Correlation between two variables shows the degree of :

(1)  Association and Causation {2 Relationship

(3) Causation (4] Multivariate distribution

Which of the following tests is used for examining the statistical significance
of individual epefficients in a linear regression model 7

(1) F-Test 2] Chi-zgquare test
13) LE test (4} t-test

Demand deposits are defined as deposits :

{1} That have [lixed lock-in period

(2 Not payable on demand
(3 Pavable on demand

(4} That do not atiracl mlerest payment
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46.  When was the National Bank for Agricullure and Rural Development (INABARDI
established ?
i1) July 1972 (2) July 1932
13} July 1962 4) July 1978
47.  The backward bending labour supply curve vecurs when
(1 Income effect 15 less than substitution effect
(2 Income effect is greater than substitution cffeet
(3} Real wage 1s less than nominal wage
4} Shortage of labour supply arises
45 “ost push inflation leads o :
(1) Decrease in uncemployment (2) Increuse in aggregate output
(3) Inereaze 1in employment i4] [ncrease in unemployment
49. Carbon tax is imposed to improve :
(1) Government revenue i2) Natural environment
(3) Social security 4) National security
B Which of the following methods 12 uwsed for valueing the local environmental
attributes/environmental qualily such as clear air ¥
(1) Contingent valualion method  (2) Praductivity method
(3} Hedonic pricing method {4} Market price method
1.  Theory of ‘Tragedy of Commons’ was developed by
(1) Partha Daspupta (2) Garret Hardin
i3) Elinor Ostrom {4} V. W. Ruttan
52. Natural resources under community ownership is called :
(13  Open aceess (2)  State property
{3y Private property {4} Commun property
hil. The concepl of technical efficiency refers to !
(1) Minimum output from maximum inputs
{2) Maximum output from given set of mmputs
i3] Combining inputs to produce output at given inputs prices
(4) Maximum oulput from maximum inputs
54, Income elasticity of demand for oulk 1s
(1) Equal to one {2)  Greater than one
(3 Less than one (4} Egual to zero
it Assume that the demand for commodity Y is inelastic. In such a situalion, an
increase in its price will lead to :
(1) A decrease in total expenditure of eonsumer
(2} An increase in total cxpenditure of esnsumor
(3 No change in vonsumner’s total expenditure
t4) Infinite change 1n consumer’s total expenditure
JL-416-KEC0O—A 8
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5. An agreementl between two countries o maintain a free trade HBTEA, @ COMImen
external tariff, free mobility of capital and labour and degree of unification in
fiscal and monelary policy is called as -

] Free trade area (2} Common Market
3] Economic Union 4] Clustoms Union

57.  Ceefficient of variation moasures
{1) Absclute dispersion (2)  HRelative dispersion
(3 Standard devialion (4} Mean deviatlion

it Which of the following states that the substitution effect is always negative ?
(1) Slutzsky equatiion
{2) Slutsky equation for normal commodity
(3) Price effeet and substitution effect move in oppusite direction
(4} Income effect and substitution effect moving in lhe same direction

39, What is the share of Telangana GSDP in All India GDP st constant prices during
2017-18 7
(1) 4.23 per cent (2) 4.13 per cent
(3) 4.07 per cent (4] +.98 per cent

60.  Average size of agricultural landheldings in Telangana during 2010-11 as per
socio-ceconomic outlook 2018, Govt. of Telanguna, was
(1) 1.49 (23 1.37
{3} 1.12 (4) 1.25

&1, Sadabainama initiative in Telangana focuses on
(1) Redistribution of land to landless people
(2) Registration and mutation of land records
(3 Resolution of land disputes
(4) Land leasing arrangement

62, Which sector within MSME does contribute to the highest share of investment
and employment ?

(1) Micro enterprises (2) Small enterprises
(31 Medium enterprises (4) Large enterprises

63. What is the proportion of Telangana’s total population concentrated in Greater
Hyderabad Municipal Corporation area as per sucic-econumic outlook, 2018 of
Government of Telangana ?

(1) 20 per cent (2) 30 per cent
(3] 50 per cent 4] 40 por cent

64, Which distriel, registered lowest level of literacy in Telangana az per 2011
Pupulation Census 7
{1} Medak {23 Wanaparthy
(3 Nagarkurnog] (4) Jogulamba Gadwal

JL-416-ECO—A i Al LS
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65.  According to the ‘expectations-augmented Phillips curve', actual inflation exceeds
expecled inflation if :
(1)  Actual uncmployment rate = natural unemployment rate
(2] Actual unemployment rate > natural unemployment rate
(3] Actual unemployment rate < natural unemployment rate
4} Actual employment rate is higher
B6. A menopsony market structure is characterised by |
(1) Single seller
(2) Single buyer
{3 Large number ol buyers and sellers
(4) One buver and one seller
§7. What are the impediments to digital transaction of money in small tewns of
India ?
(A}  Requirement of special equipment like Point Of Sale (POS)
iB)  Internet connectivily problem
(C)  Costly to users
Which of the problemis) is/are true ?
{1y  {A) only (2} (B} only
{3y (B} and {C) only (4  (A), (B) and (C)
658,  Role of National Payments Corperation of India 15 to :
{AY Enable retail payment and settlement sysiem
(B)  Enable loan transactions [or weaker sections
()}  Enable to clean up non-performing assels of banks
Which of the above statements isfare correct 7
(1) (A) only i2) (B) only
() (A) and (C) only id] {B) and () only
69. Rising cvore inflation is a concern for the cconomy. The core inflation
refers fo
(1) (Pl based inflation exclusive of food and fuel
(2) (P1 based inflation inclusive of food and fuel
(37 WPl based inflation inclusive of food and fuel
i4) WPl based inflation exclusive of food and fuel
70.  (overnment of India has fixed inflation target of 4 per cent with which one
of the follawing tolerance level for the period, August 2016 to March 2021 ¥
1) +/—-8 per cent (4] i/-1 per ecent
{5} +/—Z per cent i1 +—1.5 per cent
JT-416-KC0O—A 10
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71. Read the fullm-u':ing statemente about the employment seenario 1n India
(A There is a gracdual shift in employment from primury (o secendary and
tertiary sectors
{B} There is 4 reduction in casual and contract workers
(C) lLabour foree participation of females iz lower than that of males
Which of the above stalements isfare correct 7
(1) (Al only (2 (B} only
(3] [(A) and () enly (4)  (B) and (C) only
72 Read the following statements aboul Natiooal Health Mission :
{A)  Reduction of IMR to 25 per 1000 live births
(B) Reduetion of MMRE to 1 per 1000 live births
{C}  Reduction of anaemia in women
(I3}  Reduction of gender gap in learning outcomes
Which of the above statements isfare true 7
(1) (A), (B) and (D) only (2) {A), (B) and (C] only
{3) (B), (C) and (D)) only (4) (A, (B), (C) and (D)
73.  What is the extent of increase in reservation of vacancies [or persons with
disabilities in government establishments aflter the introduction of The Rights
of Persons with Dhsabilities Act 2016 7
(1) 1 to 2 per cent (2} 2 to 8 per cent
(3) 4 to 5 per cent {4} 3 to 4 per cent
4. Which one of the following is net true about the concept of Universal Basic Income ?
(1) Soeial justice [2) Conditional cash transfer
(3 Poverty reduction 3] Decent employment
75. Read the following statemeniz on labour migration in India :
(A) Internal labour migration has increased significantly in the recent decades
(Bl  lLess affluent states/districts experience higher oulmigration
()  Language i= o significant barrier for labour migration
Which of the above statements isfare nof true 7
(1l (A} only () (H) only
(& (C) only (4] (B} and (C) only
T Read the following statements :
(A)  Natural resources abundant Indian states grow less rapidly than resource
scarce states
(1) There exists no definite relationship between resource abundance and
ceonomie growth of Indian states
() Higher per capita income and lesser mineral value
Which of the above statements isfare correct ?
(1) iA) only 23 (B] only
(3 (1 only (4} (A) and (B) only
JL-416-EC0O—A 11 PT O
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fi1. Imphet effective subsidy on a commodily (e.z. LPG) {o rich means -
1) Infference between price paid and actual subsidy
(2} Difference hetween normative rate and actual subsidy
(3} Subsidy on actual consumption
(4] Difference between normative rate and price paid
78. Read the following statements on the importance of taxation for economic
development ;
(A} Provision of essenlial scrvice
{(B)  Protection of welfare of marginalized people
(Ct  Provigion of compulsory national service
(Dl Taxzation is non-obligatory
Which of the above given statements are correct 7
(1) (A) and (B) only (2 (C) and (D) only
[3) (A), (C) and (D) only (4} (A} (B) and {C) only
749, ‘More crop per drop’ refers to
(1) Improvement in irrigation effliciency
i2) Use of conventional method of irrigation
(3] Improvement in seil health
i) Improvement in fertiliser use efficiontly
Rl Which one of the following is not true about the public distribution system ?
1) Supply of foodgrains to people below the poverty line
2 High proportion of food subsidy reaches the benefliciary
(3) Procurement of foodgrains from farmers
(4) Maintenance of food stocks
B1. Udyog Aadhar is required for registration of :
i1 Business under micro, small and medium enterprises
(21 Business under large enlerprises
(3] Corporate bodies
4) I'ublie sector undertakings
B2 According to Tendulkar Committee Methodology, which of the following states
have more than 40 per cent of its rural populaiion living below poverty line
in 2011-12 ?
(1) Hajasthan and Uttarakhand (2) Madhya Pradesh and Odisha
(3} Jharkhand and Chhatlisgarh 4] Arunachal Pradesh and Sikkim
Ba. Bharatmala Pariyojana programme deals with the eonstruction of :
(11 Ports 2 Rouds
(3] Mrport (4] Inland waterways
J1-416-EC0O—A 12
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84, India i= a member of which of the only mega-regional trade agreements ?
{1} ASKAN (2} SARTA
(3 RCEP () NAFTA
84, By which year Government of India plans to double the farmers’ income ?
{13 2020 (2) 2022
(3 2021 (4) 2019
56, Focus of the National Rural Livelihood Mission (NRLM) is to -
(1) Remove abject poverty of rural houscholds
(2} Improve rural literacy
(3] Remove gender disparity in educalion
(d] Improve nutrition of children
BY. Rashiriya Swasthya Bima Yojana (RSBY) launched on 1st April 2008, in India
covered
(1} BPL families in the organised sector
(2 BPL families in the unorganised sector
{3 All rural houscholds
(4] AAY families only
B8, Backward region grant fund (BRGE) is nof applicable to which one of the following
states 7
{1}  Jammu and Kashmir {2)  Illimachal Pradesh
3 Goa (4) Punjab
B4, Which of the following states had registered the highest decadal growth in
population during 2001-2011 ?
(1) Uttar 'radesh (2 Bihar
(3]  Madhya Pradesh (4}  Rajasthan
9. Which of following conditions should be satisfied for a curve to bhe convex
upward ?
. 2 an
(1) %:u,%’ﬂ (2) :Ef:D,%{ﬂ
ey of? oy
(%) Tirﬂ’ E§ >0 W =0
o1, In a normal distribution curve, what percenlage of area is covered under one
standard deviation on either side of the mean ?
(1) 899.73 (2) ah.45
i 68,27 (4) 7829
H-116-ECO A 13 P.T.O
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9 In a frequency histogram, heightz of rectangles are equal to :
(1) Class interval size (2 Cumulative frequencies
(3) Class mark 4 Class frequencies
93. If a lump sum tax is imposed on the oligopelist, the incidence of tax 18 borne
by
{1} Oligopolist only {2) Consumers only
(3) Both oligopohist snd consumers (4] Government
04, The Solow residual is defined as the :
(1) Differcnee between growth in investment and growth in output
12 Difference between growth in output and growth in inputs
(3} Difference between growth in saving and growih in ocutput
(4) Nifference between growth in productivity and saving
95. Sume of the problems in the effective implementation of Largeted social welfare
programmes in India include |
(A} Exclusion errors (B) Inclusion errors
iC)  Adjustment errors i) Leakages
Which of the above given problems are frue !
(1) {B1, (1) and (D) only (2) (A), (B} and (C) only
i3] iA), (B) and (D) only (4) LAY, (C) and (1) only
96. joods and Serviess Tax in India is related to :
(1) All direct taxes {2 All indirect taxes
13) Al direct and indirect taxes (4)  Value Added Tax
97. What does special safeguard mechaniam for India under WTO mcean 7
(1) Right to impose trade barriers when agrmeuliural importz surges
(2] Right impose restrictions when manufacturing imports decreases
(3) Right to increasc exportz in protected markeis in the world
4] Right to impose restrictions when manufacturing imports remain same
O98. Whaut is the level of urbanizalion of Telungana state as per 2011 Census ?
(1} 45.8 per cent (2 44.5 per cent
e d8.9 per cent {4) 43.6 per cent
99, The Mission Kakativa Programme of Telangana focuses on
(1] Kxpansion of irrigated arca (2) Expansion of crop area
3] Micro-irrigalion system (4] Micra-watershed development
100,  The overall rural literacy rate (%) in Telangana as per 2011 Census state iz
{1} AT (2y BB
il i (4} ol
JL-416-ECO—A 14
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